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Q.No.1 ' A A
(1) If there are two variables x and y _;,ga-ff:hd*iq.i?n{:}'\{ {x) 2 \ASS vy A sy % A5 (1)
' and if variable(y) depends on variable{x) we write such functional retationship as:

(A} y =1(x) {B) x + f(x) (C)y + F(x) (D) x = f{y)

{2) Increase in demand due to other factors except price Is called: -ﬁfrwfjuluc.,,wa.ﬁu;i’;hf,ﬁsmé;-f 2
(&) Extension of demand tkg (B) Rise In demand tax§_2 -
(C) Fall in demand t¥¥_ 4 (D) Contraction of demand tF¥_%

(3] Elasticity of necessities is: SR A A SIS R €
(A) More slastic st (B) Infinite elastic Auf sy (C) Less elafic g 7D (D) Zero elastic ud >

(4) The maln reason of change in price of perishable goods is: ..;.@xgdxufé_nh.ljg\:.»fg}f Vil {4)
(A) Supply (B) Cost iAs +0f Demand’ ¥ (D) Organizer 2T

(5) if supply does not change due to increase in price is.known as --_&c‘,’fa-&rh:;tyiﬂ#&g&'ixé‘;;—é {3)
{A) Extension of supply e &us {B] Fall Insupply ¢ b
(C) Rise in supply bek¥a (DY Risactibn of supply ¢ S¥ss

(8) In long run supply curve is: g brab Lant P (6)
(A) More elastic i (B) Inelastic 7 (©) Less elastic 4/ (D) infinitely elastic Ayt

(7) Functional reiationship betdiaen ifputs ahd cutputs is known as: -e,-_rwi-‘b Sl Mg Pt M
(A} Production of wealth Mﬁ (B) Production of resources J’vuﬁ&
(C) Production tachbique Ul 4 (D) Production function Hu v

(8) _____is not righl 3gbut labur. -q.-,f:-"t;’a""’:..;:f (8)
(A)dbs iffelastic, ‘& drid 2 {B) It can not be stored Frth s

{C) Itican net'be separated from labourer Uﬁ bd’.;. .Jl‘c_,)nf (D) Differ in efficiency g..::tJ}ui;WJﬂ"l

(9) Slope afMarginal product curve under Law of Decreasing Relurn is: -q.:n?hfa:m[.mlgja.:}&f .rd:u' ruJ:‘E' {9
(A) Infinite 451 (B) Positive =8 (C) Negative i (D) Zero M

{10) Such Economies which can be availed by all firms, known as: A fupbni'l'&-'L;h'd:p;!’rl;’;.-cﬂu?!iﬁ;dl {10)
{A) Technical Economies N0 (B) internal Economies L Gt
(C) External Economies S s (D) Administrative Economies ¢ S

(11) Atthe minimum point of Average Total cost (A L (ATC) Sl (1)
{A) Marginal cost = Average cost wdularhal = -UL#("' (B) Marginal cost = Fixed cost Sl = ....»LJ*{‘"F
{C) Fixed cost = Variable cost e = e (D) Average variable cost = Demand b = e

{12) The second title of Average Revenue Is: -..;,ftg:;:b’d#:y;r (12)
(A) Marginal Revenue yr47~  (B) Marginal cost e (C)Price =4 (D) Average cost kel
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(13) Revenue which we get atter selling an additional 00 e DnPee i Ser JI00 G g2l (13)
unit is known as:
(A) Cash receipt J»45 (B) Avérage revenue Yk (C) Marginal revenue gs47% (D) Total revenue ds S

(14} Such market in which firms are preducing homogenous —e bl sk 2l INE LA UA S (14)
product, is known as:

{A) Monopoly (.tls! . (B) Duopoly sdpss
(C) Monopolistic competitian bl (D) Perfect competition - ¥ ,

{18) Productive difference of pisces of various lands is called: et T St iz S ¥ (35)

. (A) Net rent w7 (B) Scarcity rent i}y’ (C) Differential rent w807 (D) Quasirent wBiF

(16) Speculative demand for meney depends on; -q_.’:':ub-’ih’er-lh,ﬂafc_iﬁm_.» (1
(A) Investment /5Kl (B) Saving ¢t {C) Income ;3T (D) Interest rate ¢

(17} is not Economic good. gﬁv (17
(A) Food JT# (B) Dress /v (C) Sunlight H{Zw (D) Hoo }

(18) Father of Economics was: K= (18)
(A) Marshait 5t (B) Adam Smith #74 (C) Robbins ) ts A .

(18) When tolal utility diminishes then Marginal utility becomes: ul.iif&""i‘%rx':;ﬁluy._..a {19}
(A) Positive = (B) Negative (" (©) Max% ; () zero j#

{20} Total utility at each point of indifference curve is: 9 - Bt s Iu?:; Jﬂ};ﬁéf‘rxﬂ (20}

initesl s, (D) Negative i

£
(A) Constant ULt (B) Zero 3 E\
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SECTION-l o

2. Attempt any elght parts. 16=2x8 -i‘.{{fwkw-ﬁ.lzlifaéf ..2/:U|r‘
()  Whatis meant by Economic Wants? e e cledle ()
(iy ~ Write four points of Robbins definition. ..;_,r'.:'*{.:.:ﬁug,_f...@,"{; e (i)
(iil)  What is meant by Ecanomic Laws? St e o e (i)
(iv) Whatis meant by Economic problem? . e :F/L_f.-_'...ﬁ'r.j'* e O (V)
(v} Whatis meant by Consumer? ?q.‘)!ﬂ{:._i;u (v)
(vi) Define Marginal Utility. P AT
(vi} Define Law of Equi-marginal Utilly. oL IS Ty IE (Vi)
(viii) Whatis meant by Linear Equation? ?ﬁ.;yg;.,«.mu@mg’ (viii)
" (ix) Define Law of Demand. - _E/JJJU:*E {ix)
(x) What is meant by Expansion of Demand? - e e gl (X)
{(x)) Whatis meant by Rise in Démand? te Ve et ()
(xii) What is meant by Income Elasticity? tes e Hual (i)
3. Attempt any eight parts. 16=2x8 Efeyrlindle 8 30
()  Whatis meant by Markef/Supply? e st sn$ilit ()
(i)  Wiite two fimitations of\Lawiéf Supply. h g fkie 9Sarnd 35 ()
(i) Define Supply: 2 S i
(iv) Whatissmeant by shifting of supply curve? te e L;;; Sarsks (V)
(v)¢ Draw & diagram of market equilibrium. ,uf‘hrl)?lﬁgf:;il}ﬁ.di? (v)
(viy Withatis production of wealth? o éf‘:f.' _"rquLg. {vi)
(vii) Define Labour. o Al (il
(viiiy What is meant by Organization? T'Lﬂ/l_'fr.'_-(:-y {wiii)
(ix) Differentiate between the National and Foreign capital. - x@'gJ)U',L/f ,‘..;z'!lL,F ()
{x} Define Technical Economies. -u:'d_@ f;{u?&’f (]
(xiy Write four disadvantages of large scale preduction. -f z@fatuﬁ)?iﬁﬁ k& (D)
(xii) Define Law of VVariable proportion. ﬁJ:’G..I;J ﬂfayl;?f”uﬁi? {xii)

{ .’:J'-| L})_'}
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4. Attempt any nine parts. _ 18=2x9 Efezlimie § 4y
(i)  Write any four examples of Fixed cost. - 4‘-'d L-"J\*'irké?&v” 1 ()
(i) What is meant by Average Vartabie Cost? f..;_,y@...s,w,?w {ii)
(iily What is meant by Total Revenue? Sepfedraf (i)
(iv) What is meant by Monopoly? e spa Sbnlt (V)
(v} What is meant by Super Normal Profit? ?g.:lfL:c:. C"r'?Jr"" S (v
(vi) Whatis meant by Short Run? ?q.)yi;r’a.d.fd:u’ {wi)
{vii) Define Market. -g';'-: ._g'/‘%f Sles (vil)
(viil) Write any four characteristics of day to day market. Lt (S ey (il
(ix) Define Rent. EASE (i
(0 What is meant by Quasi Rent? Se Ve gl Wy, (X)
(xi)y Write any four functions of Labour Union. _4{,;‘;1,5‘;';;5:2 lf’, g ()
{x'ﬁ:f What is meant by precautionary demand for money? ?q_;L/,Lf:_ Q&J{LL@LJ:,PG% (xii)
(xiii) What is meant by Interest? Sesl ey (Xil)

SECTION-II 453

NOTE: - Attempt any three questions.  30.=10% 3 qé;f.:.l,mﬁd;ﬂlrgfadf -2

5.

Write in detail the properties of indifference curves, -g,{);',-‘-’:- yumg‘ﬁl{ i Hup# .5
R, ;

Explain Law of Demand with the help of schedule - Jes L.b;c_,MJl-'iA’zl};.ulp.-l;f J._._J-B,_;;:‘L‘»‘ -6

and diagram.

Explain differant kinds of Mobilify of Labour. -;{z@au:JrGuE‘J LS;.;J’;;.:# =T

Explain relationship between Average cost curve e :/._-JL:&L‘T UKL JJWF{J'J,‘WJV!' -8

anddarginal sast curve.

Explaih theory of marginal productivity LSl Bt s S 29
with the help of table and graph.
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